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M & A
(ERME)
BB ZEORG

TR T T v R A I M DR I TR s O A A T R e D S R R
B, WL ~7~4513 .
A s IR R A R S R I s e
<? xml version="1.0” encoding="GB18030”?>
{BusinessData xmlns="http://www. egs. org. cn/bussinessdata” xmlns:xsi="http.//www. w3. or
g/2001/XMLSchema—instance” xsi:schemalocation = http://www. egs. org. cn/businessdata. x
sd”>
<{DataStructure>
{Identifier>yiyoutufashijian</Identifier>
<DisplayName>Jii ji 5 & A B 2 M A5 </DisplayName>
<ExplanatoryComment > i 5 /& FH1 & 4= (B Fr 7 24k </ExplanatoryComment >
<{DataUnit>
<IDName>0001</IDName>
<DisplayName>¥5riHi5</DisplayName>
{Definition>ID</Definition>
<Comments>ME— F4#</Comments>
{Datatype> 7 </Datatype>
MaximumSize>20</MaximumSize>
</DataUnit>
<{DataUnit>
<IDName>0002</IDName>
<DisplayName> R E 4 FK</DisplayName>
{Definition>DisasterName</Definition>
{Datatype>FfFH</Datatype>
MaximumSize>50</MaximumSize>
</Datalnit>
<{DataUnit>
<IDName>0003</IDName>
<DisplayName> K FEJ:HI</DisplayName>
{Definition>DisasterStyle</Definition>
<Datatype> 7 </Datatype>
MaximumSize>20</MaximumSize>
</Datalnit>
<{Datalnit>
<IDName>0004</IDName>
<DisplayName> R EZ£2</DisplayName>
{Definition>DisasterLevel</Definition>
<Datatype>FfFAI</Datatype>
MaximumSize>20</MaximumSize>
</Datalnit>
<{DatalUnit>
<IDName>0005</IDName>


http://www.egs.org.cn/bussinessdata
http://www.egs.org.cn/businessdata.xsd
http://www.egs.org.cn/businessdata.xsd

<DisplayName>%t & </DisplayName>
{Definition>Longitude</Definition>
<Datatype>¥¥ mifld</Datatype>
MaximumSize>10<{/MaximumSize>
{/Datalnit>
<{Datalnit>
<IDName>0006</IDName>
<DisplayName>4F ¥ </DisplayName>
{Definition>Latitude</Definition>
<Datatype>¥¥ s U< /Datatype>
MaximumSize>9</MaximumSize>
{/Datalnit>
<{Datalnit>
<IDName>0007</IDName>
<DisplayName> M Ff[E]</DisplayName>
<Definition>Time</Definition>
<Datatype i [a] U< /Datatype>
MaximumSize>14</MaximumSize>
{/DatalUnit>
<{Datalnit>
<IDName>0008</IDName>
<DisplayName> il 5B </DisplayName>
<Definition>MonitorMode</Definition>
Datatype>F A< /Datatype
MaximumSize>50</MaximumSize>
{/DatalUnit>
<{DataUnit>
<IDName>0009</IDName>
<DisplayName> WM 5AL</DisplayName>
<Definition>MonitorDept{/Definition>
Datatype>F A< /Datatype>
MaximumSize>100</MaximumSize>
{/Datalnit>
<{DatalUnit>
{IDName>0010</IDName>
<DisplayName> Wil A\ 72</DisplayName>
<Definition>MonitorPerson</Definition>
<Datatype> < /Datatype>
MaximumSize>20</MaximumSize>
</Datalnit>
<{Datalnit>
<IDName>0011</IDName>
<DisplayName>Z%4</DisplayName>
{Definition>Type</Definition>
<Datatype>F A< /Datatype>
MaximumSize>20</MaximumSize>
</Datalnit>
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<{Datalnit>
<IDName>0012</IDName>

<DisplayName> iy b 25 5 25 </DisplayName>

{Definition>LocDistance</Definition>
{Datatype>FfFH</Datatype>
MaximumSize>20</MaximumSize>
</DatalUnit>
<{Datalnit>
<IDName>0013</IDName>
<DisplayName > i Jii [ </DisplayName>
{Definition>Cause<{/Definition>
Datatype>FE /A< /Datatype>
MaximumSize>20</MaximumSize>
</Datalnit>
<{DataUnit>
<IDName>0014</IDName>
<DisplayName>78 35 M F4</DisplayName>
{Definition>CoverArea</Definition>
{Datatype>¥¥ M < /Datatype>
MaximumSize>5</MaximumSize>
</DataUnit>
<{DataUnit>
<IDName>0015</IDName>
<DisplayName>%) i i FA</DisplayName>
{Definition>DistriAreal/Définition>
{Datatype>¥¥ M {/Datatype>
MaximumSize>5</MaximumSize>
</DataUnit>
{Datalnit>
<IDName>0016</IDName>
<DisplayName>75 75 %</DisplayName>
{Definition>CoverRate</Definition>
Datatyperi¥ s fi</Datatype>
{MaximumSize>5</MaximumSize>
</Datalnity
<Datalnit>
<1DName>0017</IDName>
<DisplayName >l 454 </DisplayName>

{Definition>PetrolCharacter</Definition>

{Datatype>¥¥ s < /Datatype>
MaximumSize>20</MaximumSize>
</Datalnit>
<{Datalnit>
<IDName>0018</IDName>
<DisplayName> i il JE £ </DisplayName>
{Definition>Thickness</Definition>
<Datatype>¥¥ MM </Datatype>



MaximumSize>5</MaximumSize>
{/Datalnit>
<{Datalnit>
<IDName>0019</IDName>
<DisplayName> iy % [ </DisplayName>
<Definition>Density</Definition>
<Datatype>¥¥ s < /Datatype>
MaximumSize>5</MaximumSize>
</Datalnit>
<{Datalnit>
<IDName>0020</IDName>
<DisplayName>$5FHE</DisplayName>
{Definition>Viscosity</Definition>
<Datatype>¥¥ mU</Datatype>
MaximumSize>5</MaximumSize>
</Datalnit>
<{Datalnit>
<IDName>0021</IDName>
<DisplayName>% B 4544 </DisplayName>
{Definition>Sepatation</Definition>
Datatype>F A< /Datatype>
MaximumSize>20</MaximumSize>
{/DatalUnit>
{Datalnit>
<IDName>0022</IDName>
<DisplayName>¥iH#82(<{/DisplayName>
<Definition>Fingerprint</Definition>
Datatype>F 4! <¢/Datatype>
MaximumSize>20</MaximumSize>
{/DatalUnit>
{Datalnit>
<IDName>0023</IDName>
<DisplayName> & HEH54:</DisplayName>
<Definition>PoisonCharacter</Definition>
{Datatype> A< /Datatype>
MaximumSize>20</MaximumSize>
{/Datalnit>
<{Datalnit>
<IDName>0024</IDName>
<DisplayName>¥iii# </DisplayName>
<Definition>FlowSpeed</Definition>
<Datatype>i¥ s i< /Datatype>
MaximumSize>5</MaximumSize>
</Datalnit>
<{DatalUnit>
<IDName>0025</IDName>
<DisplayName> i [ </DisplayName>

T/PSC 5-2022
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<Definition>FlowDirection</Definition>

{Datatype>¥¥ mHi</Datatype>
MaximumSize>5</MaximumSize>
</DatalUnit>
<{Datalnit>
<IDName>0026</IDName>
<DisplayName> R i#</DisplayName>
<{Definition>WindSpeed</Definition>
{Datatype>¥F K< /Datatype>
MaximumSize>5</MaximumSize>
</Datalnit>
{Datalnit>
<IDName>0027</IDName>
<DisplayName> A A </DisplayName>

{Definition>WindDirection</Definition>

{Datatype>#EMI</Datatype>
MaximumSize>3</MaximumSize>
</Datalnit>
<{DataUnit>
<IDName>0028</IDName>
<DisplayName> ¥ fift5.</DisplayName)
{Definition>D0O</Definition>
{Datatype>¥¥ m</Datatype>
MaximumSize>5</MaximumSize>
</DataUnit>
<{DataUnit>
<IDName>0029</IDName>

<DisplayName> 4223 E =< /DisplayName>

{Definition>COD</Definition>
{Datatype>¥¥ s i< /Datatype>
MaximumSize>5</MaximumSize>
{/Datalnit>
{Datalnit>
<IDName>0030</IDName>
<DisplayName>fiift¥1</DisplayName>
{Definition>Sulfide</Definition>
MDatatype>iF s < /Datatype>
MaximumSize>8</MaximumSize>
</Datalnit>
<{Datalnit>
<IDName>0031</IDName>
<DisplayName>f7 JH2%</DisplayName>
{Definition>Petro</Definition>
{Datatype>FfFAI</Datatype>
MaximumSize>20</MaximumSize>
</Datalnit>
<{DatalUnit>



T/PSC 5-2022

<IDName>0032</IDName>
<DisplayName>M %t & a</DisplayName>
<{Definition>Phyll-a<{/Definition>
<Datatype>FfF8I</Datatype>
MaximumSize>8</MaximumSize>
<{/DataUnit>
<{Datalnit>
<IDName>0033</IDName>
<DisplayName>IIZIFEHE AR </DisplayName>
<Definition>Distance{/Definition>
<Datatype>FfFHI</Datatype>
MaximumSize>500</MaximumSize>
{/Datalnit>
<{Datalnit>
<IDName>0034</IDName>
<DisplayName>#4JE</DisplayName>
<Definition>Remark</Definition>
<Datatype>FfFHI</Datatype>
MaximumSize>500</MaximumSize>
{/Datalnit>
{/DataStructure>
<{DataSet>
<{RecordData>
{UnitData>
<Unit IDName> #5515 </Uni tIDName>
<UnitDisplayName>}niRi5%</UnitDisplayName>
<UnitValue>YY0000001</UnitValue>
</UnitData>
{UnitData>
<UnitIDName> K% 2 4 #r</UnitIDName>
<UnitDisplayName> K ZE 4 FK</UnitDisplayName>
<UnitValue s & AE M S 44</Uni tValue>
{/UnitData>
<Unitbata>
<Unit IDName > 9% FE2571< /Unit IDName>
<UnitDisplayName> K EZHI</UnitDisplayName>
<UnitValue>#iM</UnitValue>
</UnitData>
{UnitData>
<UnitIDName> R FEZE2%</UnitIDName>
<UnitDisplayName> K 244 </UnitDisplayName>
{UnitValue>2Z%</UnitValue>
</UnitData>
{UnitData>
<UnitIDName>% & </UnitIDName>
<UnitDisplayName>Z:[#</UnitDisplayName>
<UnitValue>118. 235864</UnitValue>

11
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</UnitData>

<{UnitData>
<UnitIDName>Zf & </UnitIDName>
<UnitDisplayName>Z5 & </UnitDisplayName>
<UnitValue>39. 092738</UnitValue>

</UnitData>

<{UnitData>
<UnitIDName> i [E]</Unit IDName>
<UnitDisplayName> ¥ i [E]</UnitDisplayName>
<{UnitValue>2020-12-20</UnitValue>

</UnitData>

{UnitData>
<UnitIDName> }5 FE%</UnitIDName>
<UnitDisplayName> il =B </UnitDisplayName>
UnitValue> N TW¥5iM</UnitValue>

</UnitData>

{UnitData>
<Uni tIDName> i Il #42.</Unit IDName >
<UnitDisplayName> 5 #ll #ifi7</UnitDisplayName>
<UnitValue> KEE) I ALK I F </ UndtValue>

</UnitData>

<{UnitData>
<UnitIDName> I A &1 </Unit IDName >
<UnitDisplayName> Wl \ 573</UnitDisplayName>
UnitValue>E—MN.</UnitValue>

</UnitData>

<{UnitData>
<UnitIDName>ZE%</Unit IDName>
<UnitDisplayName>Z$HI</UnitDisplayName>
<UnitValue> MM & H</UnitValue>

</UnitDatad

{UnitData>
<Uni t IDName> ¥4 yH1 3 5025 25 < /Uni t IDName>
<Uni.tDisplayName >y b 5 #F 25 </Uni tDisplayName>
{UnitValue>it 52028 B <{/UnitValue>

</UnjitData>

<{UnitData>
<UnitIDName> ¥ il J5i [Kl</Unit IDName>
<UnitDisplayName > i Ji2 [XI</UnitDisplayName>
<UnitValue>#g EAYHT 5 #f5</UnitValue>

</UnitData>

<{UnitData>
<UnitIDName>78 & HFA</Unit IDName>
<UnitDisplayName>7& i [ #2</UnitDisplayName>
<{UnitValue>125. 3</UnitValue>

</UnitData>

<{UnitData>



<UnitIDName >4} 4 [H #2</Uni t IDName >
<UnitDisplayName>43 i I F2</UnitDisplayName>
<UnitValue>205. 25¢</UnitValue>

</UnitData>

<{UnitData>
<UnitIDName>%8 &% %</UnitIDName>
<UnitDisplayName>7& 75 %</UnitDisplayName>
<UnitValue>0. 61</UnitValue>

</UnitData>

<{UnitData>
<UnitIDName> i i 4514 </Unit IDName>
<UnitDisplayName >yl i 4:</UnitDisplayName>
UnitValue> & EREHH</UnitValue>

</UnitData>

<{UnitData>
<UnitIDName > JHi i J& & </Uni t IDName>
<UnitDisplayName >yl B & </UnitDisplayName>
<UnitValue>0. 25</UnitValue>

</UnitData>

<{UnitData>
<Uni t IDName> ¥ jfll % ¢ </Uni t IDNare >
<UnitDisplayName> i i % & </UnitDisp layName >
<UnitValue>1. 21</UnitValue>

</UnitData>

<{UnitData>
<UnitIDName> 5% </Unit IDName>
<UnitDisplayName>$iF8 & </UnitDisplayName>
<UnitValue>2..82</UnitValue>

</UnitData>

<{UnitData>
<Uni t IDName> 7} B F514</Uni t IDName >
<UnitDisplayName>4) BiHFPE</UnitDisplayName>
<UnitValue> A& T7K</UnitValue>

{/UnitData>

<UnitData>
<Und t IDName> i il #§£L</Uni t IDName>
<UnitDisplayName > HF§40</UnitDisplayName>
<UnitValue>i i i & </UnitValue>

</UnitData>

{UnitData>
<UnitIDName># P54 </Unit IDName>
<UnitDisplayName>ZE FR4F4:</UnitDisplayName>
UnitValue> W</UnitValue>

</UnitData>

<{UnitData>
<UnitIDName>ii# </UnitIDName>
<UnitDisplayName>yii# </UnitDisplayName>

T/PSC 5-2022
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<{UnitValue>1. 48</UnitValue>

</UnitData>

<{UnitData>
<UnitIDName>fi A </UnitIDName>
<UnitDisplayName>¥fi[a]</UnitDisplayName>
<{UnitValue>1</UnitValue>

</UnitData>

<{UnitData>
<UnitIDName> JXi#</UnitIDName>
<UnitDisplayName> X j#</UnitDisplayName>
<{UnitValue>12. 46</UnitValue>

</UnitData>

{UnitData>
<UnitIDName> XA </UnitIDName>
<UnitDisplayName> X [a]</UnitDisplayName>
<{UnitValue>2</UnitValue>

</UnitData>

<{UnitData>
<UnitIDName> ¥ fif#4</Uni t IDName>
<Uni tDisplayName> ¥ fi#45.</Uni tDisplayName>
{UnitValue>3. 4</UnitValue>

</UnitData>

<{UnitData>
<UnitIDName >4 2 7= 5 & </Unit1DName >
<UnitDisplayName >4t %% 75 & </Uni tDisplayName>
{UnitValue>2. 7</UnitValuep

</UnitData>
{UnitData>
<UnitIDName>FRA47</UnitIDName>
<UnitDisplayName>#A4I</UnitDisplayName>
<UnitValue>BifbE. A%</ UnitValue>

</UnitData>

<UnitData>
<UnitIDName> 44 Jl12%</UnitIDName>
<UnitDisplayName> 5 #i12</UnitDisplayName>
<UnitValue> J5iiH</UnitValue>

</UnitData>

<{UnitData>
<UnitIDName>M%4¢Za</UnitIDName>
<UnitDisplayName>MH4¢ 2 a</UnitDisplayName>
<{UnitValue>10</UnitValue>

</UnitData>

{UnitData>
<UnitIDName> I35 34 </Uni t IDName>
<UnitDisplayName>¥IFFF & iR </UnitDisplayName>
UnitValue>F s, F|F4bE</UnitValue>

</UnitData>
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<{UnitData>
<UnitIDName>#&y£</UnitIDName>
<{UnitDisplayName>#47#</UnitDisplayName>
{UnitValue>J</UnitValue>

</UnitData>

{/RecordData>
<{/DataSet>
{/BusinessData>

15
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P2 R TR S i R

<? xml version="1.0” encoding="GB18030”?>
<{BusinessData xmlns="http://www. egs. org. cn/bussinessdata” xmlns:xsi="http://www. w3. or
g/2001/XMLSchema—instance” xsi:schemalocation =" http://www. egs. org. cn/businessdata. x
sd”>
<{DataStructure>
<{Identifier>fengbaochaoyubaochanpin</Identifier>
<DisplayName> X\ 2 ik = ik </DisplayName>
<ExplanatoryComment> X ] K E Ik 7= 4 </ExplanatoryComment >
<{DataUnit>
<IDName>0001</IDName>
<DisplayName>¥5riHi5</DisplayName>
{Definition>ID{/Definition>
<Comments>ME— F4#</Comments>
Datatype>F /A< /Datatype>
MaximumSize>20</MaximumSize>
</Datalnit>
<{DataUnit>
<IDName>0002</IDName>
<DisplayName>TFR = i & #</DisplayName)>
{Definition>ForecastName</Definition>
{Datatype> 7 </Datatype>
MaximumSize>50</MaximumSize>
</DataUnit>
<{DataUnit>
<IDName>0003</IDName>
<DisplayName> TR [X </DisplayName>
{Definition>Seafrea</Definition>
{Datatype> 7 </Datatype>
MaximumSize>50</MaximumSize>
{/Datalnit>
{Datalnit>
<IDName>0004</IDName>
<DisplayName> TR 2 </DisplayName>
{Definition>Level</Definition>
Datatype> 7 </Datatype>
MaximumSize>20</MaximumSize>
</Datalnit>
<{Datalnit>
<IDName>0005</IDName>
<DisplayName>iM#4</DisplayName>
{Definition>Station</Definition>
{Datatype>FfFAI</Datatype>
MaximumSize>20</MaximumSize>
</Datalnit>
<{DatalUnit>


http://www.egs.org.cn/bussinessdata
http://www.egs.org.cn/businessdata.xsd
http://www.egs.org.cn/businessdata.xsd

<IDName>0006</IDName>
<DisplayName> X\ F#fl /K7 </DisplayName>
{Definition>StormTideLevel</Definition>
<Datatype>¥¥ mifld</Datatype>
MaximumSize>5</MaximumSize>
<{/DataUnit>
<{Datalnit>
<IDName>0007</IDName>
<DisplayName> K i 7/K£A7</DisplayName>
<Definition>AstrTideLevel</Definition>
<Datatype>¥¥ s U< /Datatype>
MaximumSize>5</MaximumSize>
{/Datalnit>
<{Datalnit>
<IDName>0008</IDName>
<DisplayName> s {7 </DisplayName>
{Definition>TotalLevel</Definition>
<Datatype>¥¥ mU</Datatype>
MaximumSize>5</MaximumSize>
{/Datalnit>
{Datalnit>
<IDName>0009</IDName>
<DisplayName>FiFkHhiiA </DisplayName>
<Definition>Describe</Definition>
Datatype>F A< /Datatype>
MaximumSize>5000</MaximumSize>
{/DatalUnit>
{Datalnit>
<IDName>0010</IDName>
<DisplayName>FiFR H.47</DisplayName>
{Definition>ForecastDept<{/Definition>
Datatype>F1FHI</Datatype>
<MaximumSize>100</MaximumSize>
{/Datalnit>
<{Datalnit>
<TDName>0011</IDName>
<DisplayName>FFk i [8]</DisplayName>
{Definition>ForecastTime</Definition>
<Datatype>H H#if4</Datatype>
MaximumSize>14</MaximumSize>
{/DatalUnit>
<{Datalnit>
<IDName>0012</IDName>
<DisplayName> Tk i 24 </DisplayName>
<Definition>PredictionAging</Definition>
<Datatype>F A< /Datatype>
MaximumSize>20</MaximumSize>
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<{/Datalnit>
<{Datalnit>

<IDName>0013</IDName>
<DisplayName> & Al [A]</DisplayName>
{Definition>ReleaseTime</Definition>
<Datatype> H#AHI</Datatype>
MaximumSize>14</MaximumSize>

<{/Datalnit>
<{Datalnit>

<IDName>0014</IDName>
<DisplayName> &4 </DisplayName>
{Definition>Province<{/Definition>
Datatype>FE /A< /Datatype>
MaximumSize>12</MaximumSize>

<{/Datalnit>
<{Datalnit>

<IDName>0015</IDName>
<DisplayName> &1 </DisplayName>
{Definition>City</Definition>
Datatype>FE /A< /Datatype>
MaximumSize>12</MaximumSize>

<{/Datalnit>
{Datalnit>

<IDName>0016</IDName>
<DisplayName>FfrJ& £ </DisplayName>
{Definition>County</Definition>
{Datatype>F < /Datatype>
MaximumSize>12</MaximumSize>

{/Datalnit>
<{Datalnit>

<IDName>0017</IDName>
<DisplayName>H¥E A 57 </DisplayName>
<Definition>DutyPerson</Definition>
{Datatype>FfF8I</Datatype>
MaximumSize>20</MaximumSize>

</Datalnit>
<{Datalnit>

<IDName>0018</IDName>
<DisplayName>E ¥ H 1 </DisplayName>
{Definition>DutyTel</Definition>

{Datatype> 7 </Datatype>
MaximumSize>50</MaximumSize>

<{/Datalnit>
<{Datalnit>

<{IDName>0019</IDName>
<DisplayName>#£57¥</DisplayName>
<Definition>Remark</Definition>



2 Y

<Datatype>F A< /Datatype>
MaximumSize>500</MaximumSize>

{/DatalUnit>

{/DataStructure>
<{DataSet>
{RecordData>

<UnitData>
<UnitIDName>#riRAi%</UnitIDName>
<UnitDisplayName>$xriRi%</UnitDisplayName>
<UnitValue>FBC0000001</UnitValue>

</UnitData>

<{UnitData>
<UnitIDName> TR = i 4 F7 </Uni t IDName>
<UnitDisplayName> T 7= ik 44 #R</UnitDisplayName>
<UnitValue> X EEI = H</UnitValue>

</UnitData>

<{UnitData>
<UnitIDName> iR 5 [X </UnitIDName>
<UnitDisplayName>iFR X </UnitDisplayName>
<UnitValue> g ¥FEIX </UnitValue>

</UnitData>

<{UnitData>
<UnitIDName> Pl ZHR 25 4% </Unit IDName>
<UnitDisplayName> TR Z2%</Uni tDisplayName>
<UnitValue>22</UnitValue>

</UnitData>

<{UnitData>
<Uni t IDName»> M3 </Unit IDName >
<UnitDisplayName >34 </UnitDisplayName>
<UnitValue>#tyLu5</UnitValue>

</UnitData>

<{UnitData>
<Uni t IDName > X & 7K fi2</Uni t IDName >
<UnitDisplayName> X &8 7K </UnitDisplayName>
{UnitValue>2. 8¢/UnitValue>

</UnitData>

<{UnitData>
<Uni tIDName> K 3 /Kfi2</Unit IDName >
<UnitDisplayName> K 3 7K 7</UnitDisplayName>
<UnitValue>1. 2</UnitValue>

</UnitData>

<{UnitData>
<Uni tIDName> S £2</Unit IDName>
<UnitDisplayName> & #£7</UnitDisplayName>
<UnitValue>4</UnitValue>
</UnitData>

<UnitData>
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<UnitIDName> ik iR </UnitIDName>
<UnitDisplayName> TR iR </UnitDisplayName>
<UnitValue> itk & Bk B EENE 2 2 hfE 5. </UnitValue>

</UnitData>

<{UnitData>
<UnitIDName> TH#R 847 </UnitIDName>
<UnitDisplayName>TH#R H.A7</Uni tDisplayName>
<UnitValue> BH#ERUR 5 EEHT 7L</ UnitValue>

</UnitData>

<{UnitData>
<UnitIDName>Ti$ i+ [8]</Unit IDName>
<UnitDisplayName> FiRHE}[E]</UnitDisplayName>
<{UnitValue>2021-07-06</UnitValue>

</UnitData>

<{UnitData>
<Uni t IDName> J5fi i} 2¢</Uni t IDName >
<UnitDisplayName> TR I %% </UnitDisplayName>
<UnitValue>7k</UnitValue>

</UnitData>

{UnitData>
<UnitIDName> %& A7 i [8]</Unit IDName >
<UnitDisplayName> & Ailsf [E]</UnitDisp layName>
<{UnitValue>2021-07-06</UnitValue>

</UnitData>

{UnitData>
<UnitIDName> )& 4 </Unit IDName>
<UnitDisplayName> it j&% </UnitDisplayName>
UnitValue>J- %</ UnitValue>

</UnitData>

<{UnitData>
<UnitIDName>fi7J& 11 </Unit IDName>
<UnitDisplayName>fTJ&Ti</UnitDisplayName>
<UnitValue>#tL.</UnitValue>

</UnitData>

<{UnitData>
<Uni't IDName> {7 J& £:</Unit IDName>
<UnitDisplayName> [T J&E:</UnitDisplayName>

</UnitData>

{UnitData>
<UnitIDName>{H¥E A 51 </UnitIDName>
<UnitDisplayName>{EH¥E A 7 </UnitDisplayName>
<UnitValue>iky</UnitValue>

</UnitData>

<{UnitData>
<UnitIDName>{E ¥t HL i< /Unit IDName>
<UnitDisplayName>{H ¥t H1%</UnitDisplayName>

20



<UnitValue>13822667849</UnitValue>
<{/UnitData>
<UnitData>
<UnitIDName>#£4yE</UnitIDName>
<UnitDisplayName>#47¥</UnitDisplayName>
{UnitValue>Jt. </UnitValue>
</UnitData>
</RecordData>
{/DataSet>
{/BusinessData>
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PI3: AR UCHE B I H

<? xml version="1.0” encoding="GB18030”?>
{BusinessData xmlns="http://www. egs. org. cn/bussinessdata” xmlns:xsi="http://www. w3. or
g/2001/XMLSchema—instance” xsi:schemalocation =" http://www. egs. org. cn/businessdata. x
sd”>
<{DataStructure>
{Identifier>shengtaizaihai</Identifier>
<DisplayName> 7 K F N 2N </DisplayName>
<ExplanatoryComment>4: 25 % 5 B 2 M ll</ExplanatoryComment >
<{DataUnit>
<IDName>0001</IDName>
<DisplayName>#5riHi5</DisplayName>
{Definition>ID{/Definition>
<Comments>ME— F4#</Comments>
Datatype>FE /A< /Datatype>
MaximumSize>20</MaximumSize>
</Datalnit>
<{DataUnit>
<IDName>0002</IDName>
<DisplayName> K FE 4 FR</DisplayName>
{Definition>DisasterName</Definition>
{Datatype>FfFAI</Datatype>
MaximumSize>50</MaximumSize>
</DatalUnit>
<{DataUnit>
<IDName>0003</IDName>
<DisplayName? % EJHEM < /DisplayName>
{Definition>DisasterStyle</Definition>
{DatatypeX ¥ </Datatype>
MaximumSize>20</MaximumSize>
</DataUnit>
<{Datalnit>
<IDName>0004</IDName>
<DisplayName> R EE£2:</DisplayName>
{Pefinition>DisasterLevel</Definition>
<Datatype> 7 </Datatype>
MaximumSize>20</MaximumSize>
</Datalnit>
<{Datalnit>
<IDName>0005</IDName>
<DisplayName>%: & </DisplayName>
<{Definition>Longitude</Definition>
<Datatype>i¥ mif</Datatype>
MaximumSize>10</MaximumSize>
</Datalnit>
<{DatalUnit>
<IDName>0006</IDName>
22
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<DisplayName>%F E</DisplayName>
{Definition>Latitude{/Definition>
<Datatype>¥¥ mifld</Datatype>
MaximumSize>9</MaximumSize>
{/Datalnit>
<{Datalnit>
<IDName>0007</IDName>
<DisplayName> M Ff[A]</DisplayName>
<Definition>Time</Definition>
<Datatype>if[E] < /Datatype>
MaximumSize>14</MaximumSize>
{/Datalnit>
<{Datalnit>
<IDName>0008</IDName>
<DisplayName> {5 M| F-Bx</DisplayName>
<Definition>MonitorMode</Definition>
<Datatype>F A< /Datatype>
MaximumSize>50</MaximumSize>
{/DatalUnit>
<{Datalnit>
<IDName>0009</IDName>
<DisplayName> il .47 </DisplayName>
<Definition>MonitorDept</Definition>
Datatype>F A< /Datatype
MaximumSize>100</MaximumSize>
{/DatalUnit>
<{DataUnit>
<IDName>0010</IDName>
<DisplayName> ¥5illl \ %2 </DisplayName>
<Definition>MonitorPerson</Definition>
Datatype>F A< /Datatype>
MaximumSize>20</MaximumSize>
{/Datalnit>
<{DatalUnit>
{IDName>0011</IDName>
<DisplayName>7& 5 [ #2</DisplayName>
<Definition>CoverArea</Definition>
{Datatype ¥ i< /Datatype>
MaximumSize>5</MaximumSize>
</Datalnit>
<{Datalnit>
<IDName>0012</IDName>
<DisplayName>/ A [ FA</DisplayName>
{Definition>DistriArea</Definition>
<Datatype>iF i< /Datatype>
MaximumSize>5</MaximumSize>
</Datalnit>
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<{DataUnit>
<IDName>0013</IDName>
<DisplayName>7& 5 %</DisplayName>
{Definition>CoverRate</Definition>
{Datatype>¥F mHi</Datatype>
MaximumSize>5</MaximumSize>

</DatalUnit>

<{Datalnit>
<IDName>0014</IDName>
<DisplayName> & /¥ </DisplayName>
{Definition>Thickness</Definition>
{Datatype>i¥ rifi<{/Datatype>
MaximumSize>5</MaximumSize>

</Datalnit>

<{DataUnit>
<IDName>0015</IDName>
<DisplayName>#F#:5: 2% </DisplayName>
{Definition>SeaweedPoison</Definition>
{Datatype>FfFHI</Datatype>
MaximumSize>20</MaximumSize>

</DataUnit>

<{DataUnit>
<IDName>0016</IDName>
<DisplayName>&; ¥4 </DisplayName>
{Definition>Character</Definition>
{Datatype> 7/ Datatype>
MaximumSize>20</MaximumSize>

</DataUnit>

{Datalnit>
<IDName>0017</IDName>
<DisplayName> A% </DisplayName>
<Definition>WindSpeed</Definition>
Datatyperi¥ s fi</Datatype>
{MaximumSize>5</MaximumSize>

</Datalnity

<Datalnit>
<1DName>0018</IDName>
<DisplayName> X\ [ra]</DisplayName>
{Definition>WindDirection</Definition>
{Datatype>#¥RI</Datatype>
MaximumSize>3</MaximumSize>

</Datalnit>

<{Datalnit>
<IDName>0019</IDName>
<DisplayName>7Ki&</DisplayName>
{Definition>Temp</Definition>
<Datatype>¥¥ MM </Datatype>



MaximumSize>8</MaximumSize>
{/Datalnit>
<{Datalnit>
<IDName>0020</IDName>
<DisplayName>#; E </DisplayName>
{Definition>Salinity</Definition>
<Datatype>¥¥ s < /Datatype>
MaximumSize>8</MaximumSize>
</Datalnit>
<{Datalnit>
<IDName>0021</IDName>
<DisplayName>/K ff.</DisplayName>
<Definition>Water</Definition>
<Datatype>FfFAI</Datatype>
MaximumSize>2</MaximumSize>
</Datalnit>
<{Datalnit>
<IDName>0022</IDName>
<DisplayName>i% B JZ</DisplayName>
{Definition>Transparency</Definition>
{Datatype ¥ s < /Datatype>
MaximumSize>4</MaximumSize>
{/DatalUnit>
{Datalnit>
<IDName>0023</IDName>
<DisplayName>7Ki#</DisplayName>
<Definition>Draft{/Definition>
Datatype>i¥# mA!<{/Datatype>
MaximumSize>6</MaximumSize>
{/DatalUnit>
{Datalnit>
<IDName>0024</IDName>
<DisplayName> XS % </DisplayName>
<Definition>WeatherPattern</Definition>
{Datatype> A< /Datatype>
MaximumSize>2</MaximumSize>
{/Datalnit>
<{Datalnit>
<IDName>0025</IDName>
<DisplayName>¥F#.</DisplayName>
<Definition>SeaState{/Definition>
<Datatype>F- < /Datatype>
MaximumSize>2</MaximumSize>
</Datalnit>
<{DatalUnit>
<IDName>0026</IDName>
<DisplayName i i#</DisplayName>
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{Definition>FlowSpeed</Definition>
{Datatype>¥¥ mHi</Datatype>
MaximumSize>5</MaximumSize>
</DatalUnit>
<{Datalnit>
<IDName>0027</IDName>
<DisplayName>¥i[n]</DisplayName>
{Definition>FlowDirection<{/Definition>
{Datatype>¥F K< /Datatype>
MaximumSize>5</MaximumSize>
</Datalnit>
{Datalnit>
<IDName>0028</IDName>
<DisplayName>## % </DisplayName>
{Definition>DO</Definition>
{Datatype>i¥ rifi<{/Datatype>
MaximumSize>5</MaximumSize>
</Datalnit>
<{DataUnit>
<IDName>0029</IDName>
<{DisplayName>PH</DisplayName>
{Definition>PH{/Definition>
{Datatype>¥¥ m</Datatype>
MaximumSize>3</MaximumSize>
</DataUnit>
<{DataUnit>
<IDName>0030</IDName>
<DisplayName> i M2 £h</DisplayName>
{Definition>P04P</Definition>
{Datatype>¥¥ s i< /Datatype>
MaximumSize>6</MaximumSize>
{/Datalnit>
{Datalnit>
<IDName>0031</IDName>
<DisplayName> VAR £5~%(</DisplayName>
<Definition>NO2N</Definition>
MDatatype>iF s < /Datatype>
MaximumSize>8</MaximumSize>
</Datalnit>
<{Datalnit>
<IDName>0032</IDName>
<DisplayName>fig Bz th—%(</DisplayName>
<Definition>NO3N</Definition>
{Datatype>¥¥ s < /Datatype>
MaximumSize>8</MaximumSize>
</Datalnit>
<{DatalUnit>



<IDName>0033</IDName>
<DisplayName>Z %(</DisplayName>
<Definition>NH4N</Definition>
<Datatype>¥¥ mifld</Datatype>
MaximumSize>6</MaximumSize>
<{/DataUnit>
<{Datalnit>
<IDName>0034</IDName>
<DisplayName>t: & 5 </DisplayName>
<Definition>N03</Definition>
<Datatype>¥¥ s U< /Datatype>
MaximumSize>8</MaximumSize>
{/Datalnit>
<{Datalnit>
<IDName>0035</IDName>
<DisplayName>£7 jH25</DisplayName>
<Definition>0il</Definition>
<Datatype>¥¥ mU</Datatype>
MaximumSize>8</MaximumSize>
{/Datalnit>
{Datalnit>
<IDName>0036</IDName>
<DisplayName>4i</DisplayName>
{Definition>Cu</Definition>
{Datatype ¥ s < /Datatype>
MaximumSize>8</MaximumSizé>
{/DatalUnit>
{Datalnit>
<IDName>0037</IDName>
<DisplayName>4/5</DisplayName>
{Definition>Pb</Definition>
<Datatype>¥¥ mifi<{/Datatype>
MaximumSize>8</MaximumSize>
</Datalnit>
<{Datalnit>
<TDName>0038</IDName>
<DisplayName>4¥</DisplayName>
<Definition>Zn</Definition>
<Datatype>¥¥ mH</Datatype>
MaximumSize>8</MaximumSize>
{/DatalUnit>
<{Datalnit>
<IDName>0039</IDName>
<DisplayName>##E</DisplayName>
{Definition>Cd</Definition>
<Datatype>¥F mHU</Datatype>
MaximumSize>8</MaximumSize>
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{/Datalnit>

<{DatalUnit>
<IDName>0040</IDName>
<DisplayName>4%</DisplayName>
{Definition>Cr<{/Definition>
{Datatype>¥F mHi</Datatype>
MaximumSize>8</MaximumSize>

</Datalnit>

{Datalnit>
<IDName>0041</IDName>
<DisplayName> L7k </DisplayName>
{Definition>Hg</Definition>
{Datatype>¥F K< /Datatype>
MaximumSize>8</MaximumSize>

</Datalnit>

{Datalnit>
<IDName>0042</IDName>
<DisplayName>fH#</DisplayName>
{Definition>Arsenic</Definition>
{Datatype>¥F K< /Datatype>
MaximumSize>8</MaximumSize>

</DatalUnit>

<{DataUnit>
<IDName>0043</IDName>
<DisplayName>#:</DisplayName>
{Definition>Fe{/Definition>
{Datatype>¥¥ mili</Datatype>
MaximumSize>8</MaximumSize>

</DataUnit>

<{DatalUnit>
<IDName>0044</IDName>
<DisplayName >tV 2% 7 E =< /DisplayName>
<Definition>COD</Definition>
<Datatype ¥ s fi</Datatype>
MaximumSize>5</MaximumSize>

</Datalnit>

<{Datalnit>
<IDName>0045</IDName>
<DisplayName>fiift¥1</DisplayName>
{Definition>Sulfide</Definition>
{Datatype ¥ s f<{/Datatype>
MaximumSize>8</MaximumSize>

</Datalnit>

<{Datalnit>
<IDName>0046</IDName>
<DisplayName>M %% a</DisplayName>
{Definition>Phyll-a</Definition>



{Datatype>¥F mAI</Datatype>
MaximumSize>8</MaximumSize>
{/DatalUnit>
<{Datalnit>
<IDName>0047</IDName>
<DisplayName>%& Vb &</DisplayName>
{Definition>Sandiness</Definition>
<Datatype>¥¥ i< /Datatype>
MaximumSize>8</MaximumSize>
{/DatalUnit>
<{Datalnit>
<IDName>0048</IDName>
<DisplayName>7F it A PF5</DisplayName>
<Definition>Plankton<{/Definition>
<Datatype>FfFAI</Datatype>
MaximumSize>20</MaximumSize>
</Datalnit>
<{Datalnit>
<IDName>0049</IDName>
<DisplayName>=E £ & 77 K </DisplayName>
<Definition>Element</Definitiond
<Datatype>FfFH</Datatype>
MaximumSize>10</MaximumSize>
{/Datalnit>
{Datalnit>
<IDName>0050</IDName>
<DisplayName>HlZ I 55 iR </DisplayName>
<Definition>Distance</Definition>
Datatype>F{FH</Datatype>
MaximumSize>500</MaximumSize>
</Datalnit>
{Datalnit>
<IDName>0051</IDName>
<DisplayName>#%yF</DisplayName>
{Definition>Remark</Definition>
<Datatype>FfFHI</Datatype>
MaximumSize>500</MaximumSize>
{/DatalUnit>

<¢/DataStructure>
<{DataSet>
{RecordData>

<{UnitData>
<Unit IDName> #5155 </Unit IDName>
<UnitDisplayName>$riRHi%</UnitDisplayName>
<UnitValue>HT0000001</UnitValue>

</UnitData>

<UnitData>
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<UnitIDName> K F 44 #</UnitIDName>
<UnitDisplayName> %K 54 #R</UnitDisplayName>
UnitValue>iE &S K E </ UnitValue>

</UnitData>

<{UnitData>
<UnitIDName> K F2H1</UnitIDName>
<UnitDisplayName>® FEFHI</UnitDisplayName>
<UnitValue># & </UnitValue>

</UnitData>

<{UnitData>
<UnitIDName> K E2E25</UnitIDName>
<UnitDisplayName> R EE£4</UnitDisplayName>
<UnitValue>32</UnitValue>

</UnitData>

<{UnitData>
<UnitIDName>%£¢ % </Uni t IDName>
{UnitDisplayName>% & </UnitDisplayName>
<{UnitValue>121</UnitValue>

</UnitData>

{UnitData>
<UnitIDName>%f & </UnitIDName>
<UnitDisplayName>%5 & </UnitDisplayName>
<{UnitValue>36</UnitValue>

</UnitData>

{UnitData>
<UnitIDName> ¥ [E]</Unit IDName>
<UnitDisplayName> ¥ JllFf []</UnitDisplayName>
<UnitValue>2021-07-25</UnitValue>

</UnitData>

<{UnitData>
<UnitIDName> ¥l FE%</UnitIDName>
<UnitDisplayName> i #llF=E¢</UnitDisplayName>
<UnitValue> N THilI</UnitValue>

</UnitData>

<{UnitData>
<Uni't IDName> i Il #4372 </Uni t IDName >
<UnitDisplayName> Wl ¥ifi7</UnitDisplayName>
<UnitValue> b FiFE - 00</UnitValue>

</UnitData>

{UnitData>
<UnitIDName> } M A 531</UnitIDName>
<UnitDisplayName> 5l \ 71</UnitDisplayName>
<UnitValue>#FE</UnitValue>

</UnitData>

<{UnitData>
<UnitIDName>7& 5 A2 </Unit IDName>
<UnitDisplayName>7& i [ #2</UnitDisplayName>



<UnitValue>125. 3</UnitValue>

<{/UnitData>

<UnitData>
<UnitIDName >4} 4 H#4</Unit IDName>
<UnitDisplayName>43 4 I FA</UnitDisplayName>
<UnitValue>205. 25</UnitValue>

</UnitData>

<UnitData>
<UnitIDName>7& 75 %</UnitIDName>
<UnitDisplayName>7& &5 %</UnitDisplayName>
<UnitValue>0. 61</UnitValue>

</UnitData>

{UnitData>
<UnitIDName> & )J¥</UnitIDName>
<UnitDisplayName>/EJ&</UnitDisplayName>
<UnitValue>0. 3</UnitValue>

</UnitData>

<{UnitData>
<UnitIDName>{#F# 2 £</Unit IDName>
<UnitDisplayName>i#F#E5:4:</Uni tDisplayName>
<UnitValue>£E</UnitValue>

</UnitData>

<{UnitData>
<Uni t IDName> # B¢t </Un it IDName>
<UnitDisplayName>#F FEHF:</UnitDisplayName>
<UnitValue>®# W.</UnitValue>

</UnitData>

{UnitData>
<UnitIDName> X J#</Uni t IDName >
<UnitDisplayName>Xi#</UnitDisplayName>
<UnitValue>3. 5</UnitValue>

</UnitData>

<UnitData>
<UnitIDName> X [a]</UnitIDName>
<UnitDisplayName> X, [A]</UnitDisplayName>
<UnitValue>1</UnitValue>

</UnitData>

<{UnitData>
<UnitIDName>7Ki#i#</UnitIDName>
<UnitDisplayName>7Kif</UnitDisplayName>
<UnitValue>20. 2</UnitValue>

</UnitData>

{UnitData>
<UnitIDName> £k & </UnitIDName>
<UnitDisplayName> 5 </UnitDisplayName>
<UnitValue>2. 7</UnitValue>

</UnitData>
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<{UnitData>
<UnitIDName>7Kf4</UnitIDName>
<UnitDisplayName>7Kff</UnitDisplayName>
<UnitValue>jg</UnitValue>

</UnitData>

<{UnitData>
<UnitIDName>i% B F</Unit IDName>
<UnitDisplayName>i% B E</UnitDisplayName>
<{UnitValue>0. 5</UnitValue>

</UnitData>

<{UnitData>
<UnitIDName>7KiR</UnitIDName>
<UnitDisplayName>7Ki%</UnitDisplayName>
{UnitValue>1. 3</UnitValue>

</UnitData>

{UnitData>
<UnitIDName> RS M % </UnitIDName>
<UnitDisplayName> RS I % </UnitDisplayName>
UnitValue>z</UnitValue>

</UnitData>

{UnitData>
<UnitIDName>##.</Unit IDName >
<UnitDisplayName>#F#.</UnitDisplayName>
<UnitValue> R </UnitValuey
</UnitData>

<{UnitData>
<UnitIDName> i </Uni t IDName>
<UnitDisplayName ¥t i#</UnitDisplayName>
<{UnitValue>1. 48</UnitValue>

</UnitData>

{UnitData>
<UnitIDName>¥itl7]</UnitIDName>
<UnitDisplayName>¥it[A]</UnitDisplayName>
<UnitValue>1</UnitValue>

</UnitDatay

<UnitData>
<UnitIDName> ¥ fi# %.</UnitIDName>
<UnitDisplayName> & fE%.</UnitDisplayName>
<{UnitValue>3.6</UnitValue>

</UnitData>

<{UnitData>
<UnitIDName>PH</UnitIDName>
<UnitDisplayName>PH</UnitDisplayName>
<{UnitValue>7.0</UnitValue>

</UnitData>

<{UnitData>
<Uni t IDName> V% P 8§ & ££.</Uni t IDName >



<UnitDisplayName>yif P HR £5</UnitDisplayName>
<UnitValue>0. 002</UnitValue>

</UnitData>

<{UnitData>
<UnitIDName> LA 2 #5~%(</Uni t IDName >
<UnitDisplayName> WV A5PR £h-%(</UnitDisplayName>
<UnitValue>0. 013</UnitValue>

</UnitData>

<{UnitData>
<UnitIDName> iR £h—%</Unit IDName>
<UnitDisplayName> gz £—%&(</UnitDisplayName>
<UnitValue>0. 0003</UnitValue>

</UnitData>

<{UnitData>
<UnitIDName>Z & </UnitIDName>
<UnitDisplayName>%4 %&</UnitDisplayName>
<UnitValue>0.0102</UnitValue>

</UnitData>

<{UnitData>
<Uni t IDName>fiE % £5</Unit IDName>
<UnitDisplayName>tF: R £:</UnitDisplayName>
<UnitValue>0. 0031</UnitValue>

</UnitData>

<{UnitData>
<UnitIDName> £ jH125</Uni t1DName>
<UnitDisplayName>744 y125</UnitDisplayName>
UnitValue>c</UnitValue>

</UnitData>

{UnitData>
<UnitIDName>4i</UnitIDName>
<UnitDisplayName>4fi</UnitDisplayName>
<UnitValue>0.0014</UnitValue>

{/UnitData>

<UnitDbata>
<{UnitIDName>%</UnitIDName>
<UnitDisplayName>#i</UnitDisplayName>
<UnitValue>0. 0009</UnitValue>

</UnitData>

{UnitData>
<UnitIDName>%¥%</UnitIDName>
<UnitDisplayName>$¥</UnitDisplayName>
<UnitValue>0. 0025</UnitValue>

</UnitData>

{UnitData>
<UnitIDName>%%</UnitIDName>
<UnitDisplayName>##</UnitDisplayName>
<UnitValue>0. 0007</UnitValue>
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</UnitData>

<{UnitData>
<UnitIDName>%%</UnitIDName>
<UnitDisplayName>4%&</UnitDisplayName>
<{UnitValue>0. 0003</UnitValue>

</UnitData>

<{UnitData>
<UnitIDName> s 7k </Unit IDName >
<UnitDisplayName> L7k </UnitDisplayName>
<{UnitValue>0. 0001</UnitValue>

</UnitData>

{UnitData>
<UnitIDName>H#</UnitIDName>
<UnitDisplayName>##i</UnitDisplayName>
<{UnitValue>0. 0006</UnitValue>

</UnitData>

<{UnitData>
<UnitIDName>#%k</UnitIDName>
<UnitDisplayName>4:</UnitDisplayName>
<{UnitValue>0. 0104</UnitValue>

</UnitData>

<{UnitData>
<UnitIDName >4k % 3 % & </Unit [DName>
<UnitDisplayName>ft 2 75 5 8 </Unt tDisplayName>
{UnitValue>2.9</UnitValue>

</UnitData>

<{UnitData>
<UnitIDName>®ifk %</ Unit IDName>
<UnitDisplayName>fif#1</UnitDisplayName>
<{UnitValue>0. 18</UnitValue>

</UnitDatad

{UnitData>
<UnitIDName>M %t % a</UnitIDName>
<UnitDisplayName>H4¢ & a</UnitDisplayName>
{UnitValue>8</UnitValue>

</UnjitData>

<{UnitData>
<UnitIDName>& ¥bE:</UnitIDName>
<UnitDisplayName> & ¥b&</UnitDisplayName>
<UnitValue>0. 15</UnitValue>

</UnitData>

<{UnitData>
<Uni t IDName> {5 3 AE#FP24</Uni t IDName>
<UnitDisplayName>¥F i EW)Fh2E</Uni tDisplayName>
UnitValue>d#uksh#1</UnitValue>

</UnitData>

<{UnitData>
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<UnitIDName> B E 7% </Uni t IDName>
<UnitDisplayName> ¥ 2% 3% J6 2 </Uni tDisplayName>
<UnitValue>%&</UnitValue>
</UnitData>
<{UnitData>
<UnitIDName>El37 ¥ 55 iR </UnitIDName>
<UnitDisplayName>IIZIF1EHIR</UnitDisplayName>
<UnitValue>I3 ki A</UnitValue>
</UnitData>
<{UnitData>
<UnitIDName>#£4yE</UnitIDName>
<UnitDisplayName>£%7#</UnitDisplayName>
<UnitValue>JG</UnitValue>
</UnitData>
</RecordData>
{/DataSet>
{/BusinessData>
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